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	Functions
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	Average Rate of Change: Increasing and Decreasing Functions
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This is not much different than the old slope (rise over run) formula for a straight line.

Given two points on a curve, the average rate of change is the slope of the line that connects those two points:
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 (this is called the difference quotient)
To solve:

	
	Given
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	1. 
	Let one value of x be a.
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	2. 
	Let the other value of x be b.
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	3. 
	Evaluate f(b).
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	4. 
	Evaluate f(a).
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	5. 
	Plug the values for f(b), f(a), b, and a into the formula.
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	6. 
	Simplify
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Increasing

As you move left to right, the curve is going up.

Decreasing

As you move left to right, the curve is going down.
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